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[11200] 1,956,000 | LBH3IHI/
[100] 1,956,000 | s&=At
[101] 1,956,000 | ===
[7000] 1,956,000 | S=AAIZHE K|
[7018] 1,956,000 | A= |2)|=24H]|
[227] 1,956,000 | (BY)sFAHE=REI 23|
[110] 383,508 | oI124H|
[110-03] 377,508 | A2z
377,508 | 1. 22X S
377,508 Il 2822
325,986 1) 30
IhE L
304,253 1,811,02724x14H+122=
LhEr A
21,733 905,555R1%x2H*128=
23,400 2) A
IHE LR
21,840 130,0004*14%*128=
LhErL |
1,560 65,0002 *122=
12,000 3) HEESIHH
IHELH
11,200 400,000 14H+235|=
L Er K|
800 200,000 *2H*25|=
4) M=
16,122 16,122,0008=
[110-04] 6,000 | Y222
1,200 | 1. Q@ ZEXA=2
Il SECHRE stA3Fe| o2
1,200 100,000*201x32%235|=
= 1 101-7000-7018-227-110 : SP- SE-SUSAAZTHH|2-AZ)|2)|2AH|-(EX) SSAHA22]|22A4H|-01 24|
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1,200 | 2. gexo=s
oh BAF Y sHARE|0IR
1,200 | 100,000R%201+32+235|=
1,200 | 3. AISX¥E=2E8
oh BAF Y BAFE| oo
1,200 100,000 &#2Q1%x3U*23|=
1,200 | 4. SExH=s
Oh AL BHARE| ool
1,200 | 1000002 *201x32U#25|=
1,200 | 5. MIEX 222
oh BAF Y SRR oo
1,200 100000 *201%3Ux23|=
[210] 1,173,776 | 24
[210-05] 18,000 | E=0HA!H
1. 29X2Y =
18,000 6,000&*100H*30L=
[210-06] 18,900 | &-=2H|
18,900 | 1. 2LX&W S
oh (BY)=H
7,500 30,0003 *1Hx250L=
Lt (FZ, 252)Y=x
11,400 50,000@x2H*114L=
[210-12] 817,260 | Ec|=44H|
773,550 | 1. SXEAUE
O, 2R SXLOIE(HIARE, Dot T8
765,050 650,000&*1,177%=
Lh ZA HE(=2)
4,500 600,000&*15%%0.5=
Ch S4H=512
4,000 | 400,0002%10%=
2. =53] X3
2,000 | 1,000,0008*25|=
3. AAMA =5}
35,310 30,000&*1,177Y=
4, ZRE 2SR LOIE
6,400 (426,6662%14H) +(213,3332x2H)=
= 1 101-7000-7018-227-210 : S SE-S2ZAAZHYA-AS) |2 | 2HH|-(BU) SSUEARAA 22| 22HY|-29Y)|
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[210-16] 319,616 | J|E+2ZHI
194,431 | 1. 2t2H|
o 28X S =27
88,331 88,331,000&=
L. ISR A=L
17,180 17,180,000&=
Ch SRtz
29,300 29,300,000&=
el ERAYG=R
19,200 19,200,000&=
Oh MEXdes
15,160 15,160,000&=
bt SEXY=s
15,160 15,160,000&=
AL HIZ=X e
10,100 10,100,000&=
68,160 | 2. ==2IAb 2JtAIE
Jb AIEEHI
45,000 45,0003 402 &+25H=
Ll 2MAE Aoy
3,000 100,000&*30%=
Ct. SMzelgsg
3,500 100,000 *7H+5d=
et eldfjzte|ghag
1,000 100,000 x5 H 2=
0L AlEgE=s=E
3,900 60,000&*65%=
gt AIRE Alg2e|=Y
8,160 120,000 68 =
Ab EHZ Botate|g
3,600 300,000 *3H*4 =
18,525 | 3. B2& SEUE =
10,000 b =olsn SEE
1) RS AR 2
5,000 500,0003 x5 2=
2) HERIR ¢
5,000 500,000 x5 2=
= 1 101-7000-7018-227-210 : S =&E-SSAABHTTR-ASI| 2| 2B -(EH) SBSAA A=) | 2AH|-22|
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6,500 | Lt GIRX(2=YX) SHHE
1) AREEAARIA 2
4,000 | 500,000 *x4H*2U=
2) HESA +¢
2,500 | 500,000&*5%=
2,025 | Ch MBHSAE ¢
1) HBHes ¢
2,025 |  405,000&*5%=
36,100 | 4. ZZ2Z Al XA
IR Y e XY A} F,X0| e A
10,500 | 50,000&*2103|=
Lh 24 % M@ A543
2,800 | 200,0002*14%=
Ch. 2% A4 2|
10,800 | (300,00021%12I42%1IHA)+(200,00024+12IHE*3IH &)=
oh XHERE HIAa 29|
12,000 | (200,00024%12IHZ2IHA)+(150,00024+12IH B *4IH 4)=
1,400 | 5. L+2A L B2 HF
b 2424
800 |  ((300.00021*1 2 Af)+(100,000&*1 £ A))*25|=
Lt 2432
600 |  ((200,00021%1=A1)+(100,0008*1 S A))*25I=
Alggoia TAAIE
1,000 | 1,000,0008=
304,620 | 2aAH|
304,620 | DAY
162,900 | 1. 2AXAL S
13 12
13,500 |  12x1,125,0008*128=
Lk 2,32 2012
32,400 |  3%*900,0002*128=
Ch 32 243 2
12,000 | 224*500,0002*128=
o 43 X012 ¥
88,200 |  2124x350,000&*128=
O 4.52
7.200 | 42*150,0002*128=
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bt 52 EX01
9.600 |  10Z*80,0008!*128=
35.460 | 2. QIHBEXIAEL
I 2,33 J12E
11,700 | 12%975,0002*128=
Lt 43 22012
21,000 |  524x350,0002+128=
Ch. 558 EXJ01&
960 |  1Z+80,00094*128=
ch 455 XD
1,800 |  12%150,0008*128=
38.220 | 3. EXA=E
O 2,338 I
11,700 | 12x975,0002*128=
Lt 42 X012
8400 |  22x350,000%*128=
Ct 52 2xJ|&
1,920 | 2%+80,0008128=
ot 53 Iy
16,200 |  9%x150,0002*128=
24,480 | 4. BRXA=L
ot 42 J12H
6.000 |  124x500,0002+128=
Lt 48 2012
8,400 |  224x350,000%*128=
Ch 55 EXJ1&
2,880 | 324x80,0008x128=
o 53 I+
7.200 | 4%x150,0002*128=
17,280 | 5. ASXIH=E
Jh 43 0l
4,800 | 199%400,0002+128=
Lt 42 22012
4,200 | 199%350,0002*128=
Ch 58 20|
2.880 | 324x80,0002*128=
00-7018-227~
12|22~ (BY) sEBMAR 2L | 2HL|-Z 24 2|
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5,400 |  3%%150,00024128=

15,840 | 6. Bz
o 42| 2E

4,800 | 1%*400,000%128=
Lt 52 2XJ|2

3,840 | 4%4x80,000R*12&=
Ch 52 J|2+&

7,200 | 4%%150,00094128=

10,440 | 7. HIEX =28
oh 42 J|2HE

4,800 | 1%*400,0002%128=
Lt 52 2XJ|2

3,840 | 4%4x80,000R*128=
Ch 52 J|2+&

1,800 |  12%150,0002*12%=

[320] 94,096 | 2I2t0|&
[320-09] 94,006 | n22Y=

94,09 | 1. 2EXAW S
Jh HRIAE S DELE I 2g

19,397 | 1,385,523,00020%1.4%=

71273 | L B2

1) 4U2E

39,827 |  377,506,5002%10.55%=
2) EIENY3
31,446 |  377,506,5002%8.33%=
CLAIRHIE R 2@ E1F =

3,426 3,426,000&=
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